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1.An iSeries customer will be installing WebSphere Application Server (WAS) Version 5 on an
eServer i5 520. Which of the following skills are important when installing and configuring WAS?
A.SQL programming

B.TCP/IP configuration

C.iSeries backup and recovery

D.Java programming

Correct:B

2.Which of the following is a unique advantage for the iSeries version of WAS - Express?

A.lt includes a Java Message Service (JMS) provider.

B.It has a graphical wizard for configuration of an instance on the iSeries.

C.It supports any J2EE 1.3 enabled application, including Enterprise Java Beans.

D.lt includes a copy of the WebSphere Studio Enterprise Developer, in addition to the server.

Correct:B

3.Which of the following provides access to personalized enterprise resources such as enterprise
applications, corporate specific content, and collaborative environments?

A.Lotus Workplace Collaborative Learning

B.HATS

C.WebSphere Portal - Express

D.DB2 Content Manager - Express

Correct:C

4.An iSeries customer wants to add a GUI to selected RPG applications today and integrate these
RPG applications with their customers' and suppliers' applications using Web Services in the
future. Which of the following approaches should they take to achieve these two goals?

A.Use iSeries Access now and use the IBM WebFacing Tool in the future.

B.Use WebSphere Host Integration Solution now and WebSphere Host Access Transformation Services
in the future.

C.Use the IBM WebFacing Tool now and then modularize the RPG application and use web services
wizard in the future.

D.Modularize the RPG applications with HATS LE now and WebSphere Portal Enable in the future.
Correct:C

5.A customer has recently purchased a new i825 3-way Enterprise Edition server that is using
iSeries logical partitioning (LPAR). They are running WAS - Express in a one-processor partition.
They would like to run WAS - Express on another 1.5 processor partition on the i825. How many
additional WAS processor licenses must they purchase?

A.0

B.1

C.15

D.2

Correct:A

6.A company's workforce is frustrated by the complexity of finding Human Resource (HR) policies
and business performance information. Which of the following solutions would allow users to
more easily find their information?

A.WebSphere Host Integration Solution

B.WebSphere Commerce - Express
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C.WebSphere Business Integration Connect - Express

D.WebSphere Portal - Express

Correct:D

7.When implementing e-business within an enterprise, which of the following would be the most
advanced stage of adoption for an iSeries WebSphere customer?

A.Integrating Web solutions internally

B.Basic Web transactions

C.Publishing Web content

D.Integrating Web solutions externally

Correct:D

8.A customer with an i270 processor FC# 2248 is using the IBM HTTP Server (powered by Apache)
including Tomcat supplied with OS/400. Which of the following products is supported in this
environment to access iSeries resources?

A.HATS

B.IBM WebFacing Tool

C.WebSphere Host Publisher

D.iSeries Access for Web

Correct:D

9.A customer has both iSeries and zSeries systems in a network. They want to quickly reface all
host RPG and COBOL applications and enable end users to run these applications from a browser.
Which of the following products would work for both of their iSeries and zSeries environments?
A.WebSphere Commerce

B.iSeries Access for Web

C.Host Access Transformation Services

D.IBM WebFacing Tool

Correct:C

10.A customer would like for employees to be able to access iSeries applications and the OS/400
command line within a browser. They require that this be done without changing source code and
with no development effort. Which of the following solutions meets these requirements?
A.PCOMM

B.HATS LE

C.Host Publisher

D.IBM WebFacing Tool

Correct:B
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